www.kaiser-kuehne.com T +49 4254 /93 15-0

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

Installatien

m total height of the equipment
max.

_|play level

maximum free height of fall

Ex’ O’AS*
1,01

additional anchorage on choice at extra charge
A see additional sheets

impact area
(shock-absarbing surfacing essential)

\ o
| 3,87 |

1. Assign a location for the equipment considering the (minimum) space requirements.

2. Excavate sail for foundation, according fo drawing.

Please note: To achieve maximum stability and a safe installation, a moderate level of soil solubility
is required.

3. Grout foundation with compressed concrete C20/25, insert depth anchorage infe concrete according
to drawing and align it with a spirit level.

L.  The soil characteristics of the impact area surrounding the equipment must have an appropriate level
of shock absorption corresponding to a free height of fall of at least 600 mm (according to EN
176-5).

5. After concrete foundation has sef, fix equipment to depth anchorage in the following order:

Flange of bearing - washer - self-locking nut M16.

6. According fo mainfenance instructions, check all screw connections after 4-5 weeks and refighten, if

necessary.

Please take care that all special tools (e.g. Allen key for secured Allen screws etc.) and all specific
documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invsice, delivery note,
order acknowledgement, installation instructions, maintenance instructions) are forwarded to the
responsible persons.

Item No. Description Scale Date

Installation 043200000  Rotating bowl (0,85) 1:50  07/25Eb

Page
1/5



AutoCAD SHX Text
play level

AutoCAD SHX Text
1. Assign a location for the equipment considering the (minimum) space  requirements. Assign a location for the equipment considering the (minimum) space  requirements. 2. Excavate soil for foundation, according to drawing. Excavate soil for foundation, according to drawing. Please note: To achieve maximum stability and a safe installation, a moderate level of soil solubility is required.  3. Grout foundation with compressed concrete C20/25, insert depth anchorage into concrete according Grout foundation with compressed concrete C20/25, insert depth anchorage into concrete according to drawing and align it with a spirit level. 4. The soil characteristics of the impact area surrounding the equipment must have an appropriate level The soil characteristics of the impact area surrounding the equipment must have an appropriate level of shock absorption corresponding to a free height of fall of at least 600 mm (according to EN 1176-5). 5. After concrete foundation has set, fix equipment to depth anchorage in the following order: After concrete foundation has set, fix equipment to depth anchorage in the following order: Flange of bearing - washer - self-locking nut M16. 6. According to maintenance instructions, check all screw connections after 4-5 weeks and retighten, if According to maintenance instructions, check all screw connections after 4-5 weeks and retighten, if necessary. Please take care that all special tools (e.g. Allen key for secured Allen screws etc.) and all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the responsible persons.

AutoCAD SHX Text
0,45

AutoCAD SHX Text
impact area (shock-absorbing surfacing essential)

AutoCAD SHX Text
max.

AutoCAD SHX Text
maximum free height of fall

AutoCAD SHX Text
max.

AutoCAD SHX Text
total height of the equipment

AutoCAD SHX Text
3,87

AutoCAD SHX Text
additional anchorage on choice at extra charge see additional sheets

AutoCAD SHX Text
1,50

AutoCAD SHX Text
1,50

AutoCAD SHX Text
company label


www.kaiser-kuehne.com T +49 4254 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

Installation

_|play level

0|0,35

depth anchorage

concrete

Lx screw connection:

hexagon cap nut DIN 986-M16, zinc-coated;
washer DIN 125-17, zinc-coated

EN 1176

detail 1:10 / shock-absorbing surfacing
play level |
e O = W AR
L [T [T
| — =] =
s [% ) _
frame ‘ A LS L 1
concretfe ‘ L e | —— LN il
1 1 o 8 e 1
natural soil
. Item No. Description Scale Date Page
Installation 1090106 Foundation anchorage 1:50 07/25Eb  2/5



AutoCAD SHX Text
0,60

AutoCAD SHX Text
0,35

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete 

AutoCAD SHX Text
depth anchorage

AutoCAD SHX Text
4x screw connection: hexagon cap nut DIN 986-M16, zinc-coated; washer DIN 125-17, zinc-coated

AutoCAD SHX Text
play level

AutoCAD SHX Text
shock-absorbing surfacing

AutoCAD SHX Text
concrete 

AutoCAD SHX Text
frame

AutoCAD SHX Text
natural soil

AutoCAD SHX Text
# 1090106


www.kaiser-kuehne.com T +49 42 54 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

Installation

# 1090158

_|play level

0,50 0,40

depth ancherage

00,50

concretfe

Lx screw connection:

hexagon cap nut BIN 986-M16, zinc-coated;
washer DIN 125-17, zinc-coated

EN 1176

detail 1:10
‘ shock-absorbing surfacing
[
| play level
I . S
‘ < Tt 7T T
frame ‘
‘ [ —— R —
> b |
> >
48 syt R
L« * -
13 DD N L : - :
concrete ‘ ‘}A‘D S ]
m =g e—=i
natural soil
Item No. Description Scale Date Page

Installation 1090158 Ground anchorage 1:50 07/25Eb  3/5


AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete 

AutoCAD SHX Text
0,50

AutoCAD SHX Text
0,40

AutoCAD SHX Text
depth anchorage

AutoCAD SHX Text
4x screw connection: hexagon cap nut DIN 986-M16, zinc-coated; washer DIN 125-17, zinc-coated

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete 

AutoCAD SHX Text
frame

AutoCAD SHX Text
natural soil

AutoCAD SHX Text
shock-absorbing surfacing

AutoCAD SHX Text
0,50

AutoCAD SHX Text
# 1090158


www.kaiser-kuehne.com T +49 4254 /93 15-0

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

Installation

customised short length

_|play level

0,35

#1090300

Lx screw connection:
hexagon cap nut DIN 986-M16, zinc-coated;
washer DIN 125-17, zinc-coated

EN 1176

detail 1:10
shock-absorbing surfacing
o play level
_+_l_@;"""'\"ﬁ """"" [ —— ]
frame ‘ - - |
AR
[T
concretfe | ‘ ‘ ‘ ‘ ‘ ‘
\ 1
e 1 e I e I
natural soil
. Item No. Description Scale Date Page
Installation 1090300 all-purpose ground anchorage 1:50 07/25Eb  4/5



AutoCAD SHX Text
0,35

AutoCAD SHX Text
1,10

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete 

AutoCAD SHX Text
depth anchorage

AutoCAD SHX Text
customised short length

AutoCAD SHX Text
4x screw connection: hexagon cap nut DIN 986-M16, zinc-coated; washer DIN 125-17, zinc-coated

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete 

AutoCAD SHX Text
frame

AutoCAD SHX Text
natural soil

AutoCAD SHX Text
shock-absorbing surfacing

AutoCAD SHX Text
# 1090300


www.kaiser-kuehne.com T +49 42 54 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

Installation

# 1090219

_|play level

max. 0,03

EN 1176

(synthetic) surfacing
with impact absorbing
effect

0,60

concrete

foundation anchor — | .

Factory-made screw connection of
rotating bowl and foundation
anchorage

4 x screw connection

bottom flange with cover plate
consisting of:

coach bolt DIN 603-M10x30-A2;
washer DIN 7349-10,5-A2;
prevailing torque type hexagon nut DIN 985-M10-A2

4 x screw connection /
cover plate and foundation anchor

consisting of:
cheese-head screw DIN 6912-M16x50
(PIN)-A2

Spring rocker removal:

e |oosen four screws M16 from the cover panel

e Lift rotating bowl with cover panel from the foundation anchor

e  For closure af floor level insert furnished HPL cover together
with a set of four washers of 5 mm thickness and appropriate
countersunk screws M16x50-A2 (see encircled detail).

Installation

Item No.

1090219

Description
removable ground anchor  1:50

Scale Date

07/25 Eb

Page
5/5



AutoCAD SHX Text
consisting of: coach bolt DIN 603-M10x30-A2; washer DIN 7349-10,5-A2; prevailing torque type hexagon nut DIN 985-M10-A2

AutoCAD SHX Text
consisting of: cheese-head screw DIN 6912-M16x50 (PIN)-A2

AutoCAD SHX Text
Spring rocker removal: Loosen four screws M16 from the cover panel Lift rotating bowl with cover panel from the foundation anchor For closure at floor level insert furnished HPL cover together with a set of four washers of 5 mm thickness and appropriate countersunk screws M16x50-A2 (see encircled detail).

AutoCAD SHX Text
max. 0,03

AutoCAD SHX Text
0,60

AutoCAD SHX Text
play level

AutoCAD SHX Text
(synthetic) surfacing synthetic) surfacing with impact absorbing effect

AutoCAD SHX Text
concrete

AutoCAD SHX Text
foundation anchor

AutoCAD SHX Text
# 1090219


	Pläne und Ansichten
	043200000A-m-1
	043200000A-m-2
	043200000A-m-3
	043200000A-m-4
	043200000A-m-5


